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Vol =
FER N E
TH4 | A0 6 R A BHERE RIS N X R T
TEHEX Sy - THE - R B {7 ¥ = & F il pall 2! R
B FEHERT X 1 23, 063, 921
Bh AT L 2 1 202, 700
PEANIBA AT L X 1 202, 700 |37 =} b=y 10 m
Gr-A—4E
A,
SN = 1 203, 700
/NIRRT =X 1 203, 700 | AE=FEAR 5 e
PRI T RERR 120X 720 H7 UV VA A ;
[Hi#R T 2 1 20, 864, 821
[LTp 2 1 5,546, 496 | ¥A =K R 3, 500 m
Ffa SE4R W=15cm JE1. 5mm PEAKMESHEE FH
e il = X R 3, 500 m
Hf FERE W=15cm JE1. Smm ;
e il = X R 460 m
H iR W=15cm JE1. 5mm ;
e il = X R 1, 880 m
Bt ©7 777 W=15cm JE1. bmm HPEAKPEEHEER ;
e il = X R 3, 500 m
M 777 W=15cm JE1. 5mm ;
X IR T 2 1 255,594 | FEmh K iR 140 m
Hf FERE W=30cm JE1. 5mm ;
a2 X R 180 m
M 777 W=30cm JE1. 5mm ;
X IR T 2 1 7,363,934 | ALK R 3, 500 m
Ff 328 W=15cm JZ1. 5mm HEKMESHLE
a2 X R 2, 340 m
Hf FERE W=15cm JE1. Smm ;
a2 X R 3, 500 m
Ff kR W=15cm JE1. bmm HEAKPEEREE A
VA X R 3, 500 m
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Vax, =
FER N E
TH4 | A0 6 R A BHERE RIS N X R T
TEHEX Sy - THE - R B {7 % & # il pall 2! R
H 777 W=15cm JE1. bmm HEKPHEEHEER
a2 X R 1, 400 m
He Y777 W=15cm JE1. 5mm ;
X IR T 2 1,185,757 | ¥EIAX R 290 m
Hfa 245 W=15cm JE1. 5mm HPEAVESEEER ;
e il = X R 140 m
F ER W=15cm JE1. bmm ;
TR X R 180 m
Hfa 245 W=45cm JE1. 5mm HPEAVESEEER ;
e il = X R 140 m
F ERE W=45cm JE1. bmm ;
e il = X R 290 m
B 775 W=15cm JE1. 5mm HEAKPEEREER |
e il = X R 140 m
He v 777 W=15cm JE1. 5mm ;
e il = X R 230 m
H 777 W=45cm JE1. bmm HEKPEEHEEA
e il = X R 140 m
He v 777 W=45cm JE1. 5mm ;
X IR T 2 4,467,600 | ALK iR 2,820 m
B KEI- 305 30F W=15cmffats JE1. 5Smm HE
IRMESREEA
TR X R 1, 400 m
Ffa K- 505 - 305 W=15em#at 1. Smm ;
X E R L = 2,045,440 | XEERN = 1, 880 m
V4= 2y b W=15emif A
AT B T = 275, 600
B EY T 2 275,600 | HLARSY BEIE 10 N
AT IR ¢80 H=800 HEEFE ¢ 250 ;
I = 1,517, 100
RIEET 2 1,517,100
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R PERE
THEL | A6 R BHER IR PN IX B T
THEXSy - THE - FE5 H7 & & # i Gl 2 N

[P % 2V 1 23, 063, 921
Hm IR E E20 1 4, 660, 000
e Tre: X 1 682, 000
BUGBREIUEL (REH L) 2V 1 682, 000
sty (R L) 2V 1 3, 978, 000
ol T 2V 1 27,723, 921
e R E20 1 15, 192, 000
T AT 2V 1 56, 835, 649
— e PR E20 1 9, 864, 351
N E20 1 66, 700, 000
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Vol =
FER N E
TH4 | A0 6 R A BHERE RIS N X R T
TEHEX Sy - THE - R B {7 ¥ = & F il pall 2! R
B FEHERT X 1 6, 383, 728
Bh AT L 2 1 202, 700
PEANIBA AT L 2 1 202, 700 |37 =} b=y 10 m
Gr-A—4E
Hf
SN = 1 203, 700
/NIRRT =X 1 203,700 |fHaEkAR 5 *e
PRI T RERR 120X 720 H7 UV VA A ;
[Hi#R T 2 1 5, 355, 228
[LTp 2 1 1,468,620 | ¥AFELFX R 940 m
Ffa SE4R W=15cm JE1. 5mm PEAKMESHEE FH
e il = X R 940 m
Hf FERE W=15cm JE1. Smm ;
e il = X R 120 m
H iR W=15cm JE1. 5mm ;
e il = X R 470 m
Bt ©7 777 W=15cm JE1. bmm HPEAKPEEHEER ;
e il = X R 940 m
M 777 W=15cm JE1. 5mm ;
ECTE X 1 55,968 | A=K iR 30 m
Hf FERE W=30cm JE1. 5mm ;
a2 X R 40 m
M 777 W=30cm JE1. 5mm ;
ESETE = 1 1,944, 026 | ALK i 940 m
Ff 328 W=15cm JZ1. 5mm HEKMESHLE
a2 X R 580 m
Hf FERE W=15cm JE1. Smm ;
a2 X R 940 m
Ff kR W=15cm JE1. bmm HEAKPEEREE A
VA X R 940 m
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Hfa €777 W=15cm JZ1. 5mm HEKMEEIZER ;
T =X T R 350 m
A 777 W=15cm JE1. 5mm ;

I T = 1 267, 154 | A DK it 60 m
Hfa 245 W=15cm JE1. 5mm HPEAVESEEER ;

e il = X R 30 m
Hf FERE W=15cm JE1. Smm ;

e il = X R 40 m
Hfa 245 W=45cm JE1. 5mm HPEAVESEEER ;

e il = X R 30 m
Hf FERE W=45cm JE1. Smm ;

e il = X R 60 m
Bt ©7 777 W=15cm JE1. 5mm HPEAKPEEHEEA ;

e il = X R 30 m
M 777 W=15cm JE1. 5mm ;

e il = X R 60 m
Bttt 777 W=45cm JE1. 5mm HPEAKPEEHEER ;

e il = X R 30 m
Hf 7777 W=45cm JE1. 5mm ;

ECTE E20 1 1,108, 100 | ¥ fi X i 700 o
B KEI- 305 30F W=15cmffats JE1. 5Smm HE
IKVEEREZER

TR X R 350 m
M K- e 30 W=15cm¥fis JE1. Smn ;

~
E
S
H
b

511,360 |XH#RIHEE 470 m
V44" 2y b W=15emifa B ;

SRR I

s

275, 600

HEATEY T

s

275,600 | Bty RS 10 A
AR 1A ¢ 80 H=800 HJ#EFE ¢ 250 ;

s

A 346, 500

RIEET

s

346, 500
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R PERE
THEL | A6 R BHER IR PN IX B T
THEXSy - THE - FE5 H7 & & # i Gl 2 N

[P % 2V 1 6, 383, 728
Hm IR E E20 1 1,973,000
e Tre: X 1 236, 000
BUGBREIUEL (REH L) 2V 1 236, 000
sty (R L) 2V 1 1,737,000
ol T 2V 1 8, 356, 728
e R E20 1 5, 563, 000
T AT 2V 1 13,919, 728
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